
Graphing Rational Functions
11.2



• A rational function is a function written in the form 
of 𝑦 =

𝑝𝑜𝑙𝑦𝑛𝑜𝑚𝑖𝑎𝑙

𝑝𝑜𝑙𝑦𝑛𝑜𝑚𝑖𝑎𝑙

• The denominator cannot equal 0.

• The most basic rational function or parent function 
is 𝑦 =

1

𝑥
.



Because division by 0 is undefined, the value of the denominator 

of a rational function cannot be 0.  So, the domain of a rational 

function excludes values that make the denominator 0.  These 

values are called excluded values of the rational function.
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Step 3: Draw a smooth curve through the points on each 

side of x = 1.

Domain: All real #s except 

for 1.

Range:  All real #s except 

for 0.











Asymptotes

• Places on the graph the function will approach, but will never 
touch. 



𝑦 =
1

𝑥 − 2
− 4

Domain: All real #s except for 2.

Range:  All real #s except for -4.





Pay attention to the transformation clues!

vertical translation

(-k = down, +k = up)

horizontal translation
(+h = left, -h = right)

𝑦 =
𝑎

𝑥 − ℎ
+ 𝑘



The French club is planning a trip to Quebec City.  The 

function 𝑦 =
800

𝑥+2
+ 400 represents the cost y (in dollars) per 

student when x students and 2 chaperones go on the trip.  

How many students must go on the trip for the cost per 

student to be about $450?

Step 1: Substitute 450 for y.

450 =
800

𝑥 + 2
+ 400

Step 2: Solve for x.

50 =
800

𝑥 + 2

50𝑥 + 100 = 800

50𝑥 = 700

𝑥 = 14


